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Que.1 Sales & expenditure of 10 companies is given below compute the coefficient of 

correlation. 
10 daifu;ksa dh fcØh ,oa O;; bl izdkj nh gqbZ gS lglaca/k ds xq.kkad x.kuk dhft, A 

 

Company: 1 2 3 4 5 6 7 8 9 10 

Sales(00000): 50 50 55 60 65 65 65 60 60 50 

Exp.(000): 11 13 14 16 16 15 15 14 13 13 
 

Que.2 From lthe following data find the value of median. 
fuEu vkadM+ksa dk ekud Kkr dhft, A 

 

Income (Rs): 150 200 220 250 300 

No. of Person: 1 20 16 17 12 
 

Que.3 Calculate mean standard diviations and is coeffiecient for the following frequency 

distribution. 
fuEu vkof̀Rr fooj.k ls ek/; ekud fopyu ,oa xq.kkad Kkr dhft, A 

Class: 50-55 45-50 40-45 35-40 30-35 

Frequency: 22 29 31 47 51 
 

Que.4 What do you mean by hypothesis? Explain mull and alternates hypothesis with suitable 

illustrations. 
ifjdYiuk ls vkidk D;k vk”k; gS “kwU; vkSj ,dkUrj ifjdYiuk dks mfpr mnkgj.k ds ek/;e ls le>kb, 

A 

 

Que.5 Explain spss software how spss is beneficial in analysis of data and testing of 

hypothesis. 

spss lkW¶Vos;j dks le>kb, A vkadM+ksa ds fo”ys’k.k vkSj ifjdYiuk ds ifjp.k esa spss fdl izdkj mi;ksxh 

gS A 

 

Que.6 What is Annova? Explain two way analysis of variance with example. 

Annova D;k gS \ vlaxrh ds }h i{kh; fo”ys’k.k dks mnkgj.k lfgr le>kb, A 

 

Que.7 Write short note on:- 

a. Time series 
¼dky Js.kh fo”ys’k.k½ 

b. Trend analysis 
¼izpyu fo”ys’k.k½ 

 



Que.8 Explain the meaning of correlation & regression & their utility in economic analysis. 
lglEca/k rFkk izrhiMkeu dk vFkZ vkSj vkfFkZd fo”ys’k.k esa budh mi;ksfxrk crkb, A 

 

Que.9 Explain how the linear programming problem is solved by graphic method with 

suitable numerical example? 
,d ljy la[;kRed mnkgj.k dh lgk;rk ls crkb, fd ,d js[kh; izØeu leL;k dks xzkQ dh fof/k ls 

dSls gy fd;k tkrk gS A 

 

Que.10 Solve the following problem (Intial basic feasible salvation) 
fuEufyf[kr igjogu leL;k dks gy djsa A ¼izkjafHkd csfld lEHkkO; gy½ 
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